CS 2810 Day 4

Return of linear systems:

- Visualizing vector spaces

- Motivating "row equivilence"

What is Machine learning?

Is Machine Learning a good thing?
- How | met my partner (and how you're more likely to meet yours)
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example 1:
https://technology.cpm.org/general/3dgraph/?graph3ddata= bIxmuw7kwG0dGGIimw7kxmux1YdF

example 2:
https://technology.cpom.org/general/3dgraph/?graph3ddata= boxmuxBExQOdGGi
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Row equivilence: When one matrix may be row reduced into another
(note: the full augmented matrix needn't have same rref, only the "matrix" on its left)



Teeet O Jes
Tweet | \ No




C/LAS'D‘ C\*&L * N TOEET
o
A\sove CNE . E TNt e \ . .9 . \w\i.:«;eﬂ
S W€ .J\-«\N‘Ol?-\l . " L
R eww e —P Estunnce AS a:. : a
N7 “5@!..'\“\“0{2,1 ° 9
A ° o o o
Leaan e
OPOATE Ling, To LYY \

bexveR . °ON caws



MM‘
Q

-

O
OSSN o
(/{)\%GJJ—E'D ‘
Ot & i
—® | N D KTA—P
. N\ooEL Eamannte
T el - \ e
w D o
\ The£S Ny
of Nen
e €°

(XY ()
W&« Tl
¢ Nc‘}‘u\



s N\L CDOOD7



- how | met my partner
- how you'll meet yours (relative to my generation)
- facebook
- tinder
- dating apps
- tik tok?
What's incentivized and whats not in one's personality to make friends?

technology has allowed the last few generations to rebuild the social contexts in which - we
form-and sustain relationships

how?

is this change-good?



In Class Assignment 1

Give an example of machine learning you know of
- describe application
- how does it work?
- in a non-technical way, describe how the computer solves the problem



